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>> % Enterring the value of matrix in different trends
>> % By defining the Matrix A
>> A=[1,3:6,4]

A:
1
6
>>|A=[1 3;
A =
1
6
>> A=[1 3
6 4]
A =
1 3
6 4
>>
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1+7 2+8 8 10
A+B=| 3+9 4+10 =(12 14
5+11 6+12 2 16 18 12
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>> % Today We're going to discuss the basic operation on Matrice
»>> % By Defining the Matrix A4
>> A=[1 2:;3 4:5 6]

A =
1 2
3 4
5 6
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»>> % By Defining the matrix B
>> B=[7 8:9 10:;11 12]

B =
7 8
9 10
11 12

>> % By making addition to both AgEB

>»> % Assume that the Result of sumnmation would be denoted as C

>> C=A+B

Cc =
8 10
12 14
16 18
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Command Window

>> % By Defining the MMatriss A
== A=[1 24 6,9 8],

>> % By Defining the MMatrnisx B
=>>B=[04,39.,37].

== % C=A-B

== C=A-R
1 -2
1 -3
& 1
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m2
A0 5 guall s
1 2
A=|4 6
\9 8/30‘2
0O 3 3
B =
4 9 7%3
1 2)
0O 3 3
C=AxB=|4 6| x
4 9 7
9 8 x3

32
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((1<0)+(2x<4)  (1x3)+(249)  (1x3)+(2x7))
C=| (4<0)+(6x4) (4x<3)+(6x9) (4x3)+(6x7)
L(9x0)+(8x4)  (9<3)+(8<9)  (9x3)+(8x7)
8 21 17
c=(24 66 54
32 99 83,

3x3

3x3

Command Window

>> % By defiing the IMatrx A
>> A=[1 24 6,9 8],

>> % By Defining the Matrix B
=>B=[033497]

>> % C=A%B

»> C=A*B

=

g 21 17
24 66 54
32 99 83

=
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1 (4)

Where inw( ) 1s the mverse function
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Command Window

>> % By definung the Coefficient Terms
>> A=[3 3.2 3]
>> % By Defining the Absolute Terms

== B=[3,3],

>> C=inv(A)*B
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